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QFL 1322 – Reatividade de Compostos Orgânicos– 2018 
Lista 01 – Considerações Gerais de Química Orgânica  

 

1. Cada uma das moléculas abaixo é eletrofílica. Identifique o átomo eletrofílico e 
desenhe o mecanismo para uma reação com um nucleófilo Nu-, dando o produto 
em cada caso. 

	

2. Cada uma das moléculas abaixo é nucleofílica. Identifique o átomo nucleofílico e 
desenhe o mecanismo para uma reação com um eletrófilo E+, dando o produto em 
cada caso. 

	
	

3. Ordene os membros de cada grupo segundo basicidade. Explique brevemente suas 
respostas.  

(a) H2O, OH-, CH3CO2
-; (b) Br-, Cl-, F-, I-; (c) NH2

-, NH3, PH2
-; (d) -OCN, -SCN;  

(e) F-, HO-, -SCH3; (f) H2O, H2S, NH3; (g) CH3NH2, (CH3)2NH, (CH3)3N; (h) (CH3)3B, 
(CH3)3N; (i) HO–, HS–; (j) CH3CO2

–, CH3O–; (k) (CH3)3P, (CH3)3N. 

4. Reescreva cada uma das reações seguintes usando setas curvas e mostre todos os 
elétrons desemparelhados.  

(a) CH3OH + HI → CH3OH2
+ + I- 

(b) CH3NH2 + HCl → CH3NH3
+ + Cl- 

(c) C2H4 + HF → C2H5
+ + F-	
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5. Cada um desses eletrófilos pode reagir com um nucleófilo em (pelo menos) dois 
átomos diferentes. Identifique esses átomos e desenhe o mecanismo e o produto para 
cada reação. 

 

 

6. Dado o diagrama abaixo para a reação de A, gerando D, responda as seguintes 
questões: 

	

a) Quantos intermediários existem nessa reação? 
b) Quantos estados de transição existem nessa reação? 
c) Qual é a etapa mais rápida nesta reação? 
d) Qual é mais estável A ou D? 
e) Qual é o reagente que determina a velocidade da reação? 
f) A primeira etapa dessa reação é exergônica ou endergônica? 
g) A reação geral é exergônica ou endergônica? 
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140 C H A P T E R  3 Alkenes • Thermodynamics and Kinetics

CALCULATING KINETIC
PARAMETERS
In order to calculate and for a reac-

tion, rate constants for the reaction must be obtained at several
temperatures:

• can be obtained from the Arrhenius equation from (the
slope of a plot of ln k versus because

• At a given temperature, can be determined from 
because ¢H‡ = Ea - RT.

Ea¢H‡

ln k2 - ln k1 = -Ea>R¢ 1
T2

- 1
T1
≤

1>T,
Ea

¢S‡¢H ‡,Ea ,

• in can be determined from the following
equation, which relates to the rate constant at a
given temperature:

In this equation, h is Planck’s constant
and is Boltzmann’s constant

• The entropy of activation can be determined from the
other two kinetic parameters via the formula 

Use this information to answer Problem 43.
1¢H ‡ - ¢G‡2>T.

=¢S‡

(1.38066 * 10-23 JK-1).
kB(6.62608 * 10-34 Js)

-¢G‡ = RT ln 
kh
TkB

¢G‡
kJ>mol,¢G‡,

39. Given the following reaction coordinate diagram for the reaction of A to give D, answer the following questions:

a. How many intermediates are there in the reaction? e. What is the reactant of the rate-determining step?
b. How many transition states are there? f. Is the first step of the reaction exergonic or endergonic?
c. What is the fastest step in the reaction? g. Is the overall reaction exergonic or endergonic?
d. Which is more stable, A or D?

40. a. What is the equilibrium constant of a reaction that is carried out at 25 °C (298 K) with and 

b. What is the equilibrium constant of the same reaction carried out at 125 °C?

41. a. For a reaction that is carried out at 25 °C, how much must change in order to increase the equilibrium constant by a factor
of 10?

b. How much must change if c. How much must change if 

42. Given that the twist-boat conformer of cyclohexane is (or ) higher in free energy than the chair
conformer, calculate the percentage of twist-boat conformers present in a sample of cyclohexane at 25 °C. Does your answer agree
with the statement made in Section 2.12 about the relative number of molecules in these two conformations?

15.9 kJ>mol3.8 kcal>mole

¢H° = 0 kcal mol-1?¢S°¢S° = 0 cal K-1 mol-1?¢H°

¢G°

K-1 mol-1?
¢S° = 25 cal¢H° = 20 kcal>mol
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Progress of the reaction
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Temperature Observed rate constant

31.0 °C

40.0 °C

51.5 °C

59.8 °C

69.2 °C 4.34 * 10-4 s-1
2.10 * 10-4 s-1
1.16 * 10-4 s-1
4.44 * 10-5 s-1
2.11 * 10-5 s-1

43. Rate constants for a reaction were determined at five temperatures. From the following data, calculate the experimental energy of
activation and then calculate and for the reaction at 30 °C:¢S‡¢H ‡,¢G‡,
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